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QUESTION 1

Which protocol is used for port-level access control and authentication? 

A. MD5 

B. IPsec 

C. 802.1X 

D. AES 

Correct Answer: C 

 

QUESTION 2

Click the Exhibit button. 
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The ping command shows that connectivity of the 200.0.1/24 network to the 200.0.200.0/24 network exists. You notice
that all the ping test results from various devices on 200.0.1.0/24 follow the same path even through equal cost paths
exist to the 200.0.200.0/24 network. 

Referring to the exhibit, what is happening? 

A. Load balancing needs to be enabled for equal cost pathing to work. 

B. The rip-exp policy needs to be modified to advertise RIP routes 

C. The RIP group must include the preference statement. 

D. RIPv2 does not support load balancing static routes. 

Correct Answer: A 

 

QUESTION 3

What allows non-Web enabled devices to access the network on a port configured for captive portal? 

A. A MAC address white list can be configured on the switch to allow specific MAC addresses to bypass the captive
portal process. 

B. LLDP can be used to query the type of device that is attempting to access the network, and predefined device types
can be allowed to bypass the captive portal process. 

C. Captive portal can be configured to only prompt for credentials when HTTP or HTTPS traffic is requested on a port to
allow on-HTTP enabled devices access to the network. 

D. Authentication credentials for specific devices can be preconfigured on the switch for automatic authentication. 
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Correct Answer: A 

 

QUESTION 4

Click the exhibit. 

Referring to the exhibit, traffic handled by the s-1 scheduler is out of profile. Assuming bandwidth is available in this
scenario, which statement is correct? 

A. Traffic handled by the s-1 scheduler is serviced immediately after traffic being serviced by the s-4 scheduler. 

B. Traffic handled by the s-1 scheduler is serviced immediately before traffic being serviced by the s-4 scheduler. 

C. Traffic handled by the s-1 scheduler is serviced immediately before traffic being serviced by the s-2 scheduler. 

D. Traffic handled by the s-1 scheduler is serviced immediately after traffic being serviced by the s-2 scheduler. 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit, Area 1 is a stub area. 

Which two statements are correct in this scenario? (Choose two.) 

A. R2 will send traffic to unknown destinations using R1 or R4. 

B. R1 will send traffic to unknown destinations using R3 or R4. 

C. R1 will send traffic to unknown destinations using only R3. 

D. R2 will send traffic to unknown destinations using only R4. 

Correct Answer: CD 
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